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���I�I�� I��		�
I� 

(Stodola (1945), Hawthorne and Olson (1960), Horlock (1973), AFAPL-TR-78-52, 

Dixon (1978), Cohen et al (1972), Boyce (2002)) 

 

��� ���������� �v������ � v ��!o"��o#�$�v%v ��� #&�� '!�##( (�)*����� 5 ��� 6, 

�$(#��� 51 ��� 5.2) �'vo)���� )v�)�%� � )+��!��� ��� ����v��(� #)����v���� �o� !)���o, 

��� � !o( -) !)���� �����������. ���( � �+.-)�� ��/)� �!�)�� ��!�"( �+o�)�&�#��� '�� 

#��!o,� �.'o�� rh/rt (+)!�+o� 0.8). ��� �,'$!ov)� .# � ��!o"��o#�$�v&� �)!o���*%v #) 

#)'��)� +�!o$&� �+���o,v��� #��!.�)!0� �.'o�, ��� ��1�� �o� 0.4 ��� )�% )�v�� �+�!������ 

� -)%!��� ��� )+��!���� ��� ����v��(� !o(�. ��� �+. ��� #)-.�o�� #) ��� 0+0�)� #+o!)� v� 

'�v)� ���. )�v�� � )*�!#o'( ��� -) !��� ��� ����v��(� ��o!!o+���. ���' ���(v '�v)��� � 

�+.-)�� .�� 0� ����v��&� #)����v(�)�� �o� !)���o, )#*�v�2ov��� ��� +)!��%/o/��� #.vo 

)v�.� ��-) �)�!�� +�)!�'� v ��� o�� � !o( #)��1, +�)!�'%�) v )�!���)��� �) ����v��( 

��o!!o+��, �����( � ��$,���� V ( Cr )�/�� 0 ��� 3V/3r=0 , 3V/3z=0 ��� 3S/3r=0 .+0� S 

)�/�� � )/�!0+��.  

�.�), '�� �10/0��##)�!��( !o( ��� ��!�"0 !)���. �) ����v��( ��o!!o+��, � )1�� �� 

��� o!#(� ���� �� ��),-�v�� ��� ����v�� (r) (��& )1. (3.51) #�� +�!&$)� �� �$&�� ����/��(� 

��0!!0+���: 

 

   r

W

r

p

r

1 2

�
�
�

                [7.1]

 

 

.+o�  W  )�v�� � +)!�*)!)���( ��$,���� �o� !)���o,. 

4!���#0+0�%/��� ��/ �/ �&!  &�*!��� #+0!0,#) /� ��#�0�!'(�0�#) ��� #�� 

&�*!��� '�� ��/ )/&!')��. 
 &�*!��� '�� ��/ o���( )v-��+�� )�v��: 

 

� � � �
2

2 2 2 2 2V 1 1
H=h+ =h+ U +V +W h+ U + W

2 2 2

�

�         [7.2] 

 

�+����, �+. �o 2o �1�%#� ��� -)!#o��v�#��(� &$o�#): 

 

1
TdS=dh- dp

!
  [7.3] 
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���*0!�20/��� ��/ [7.2] &$0�#): 

 

dH dh dU dW
= +U +W

dr dr dr dr
 

 

��� �+. ��/ [7.3] ��#"�/0�#): 

 

 

� �
2

dh d dp
= TdS+ =

dr dr !

dS dT 1 dp 1 d! dS 1 dp
T +dS + - dp= �'/0%/��� �5��%�)!�� ��1�� .!0��  =T +

dr dr ! dr ! dr dr ! dr

� �
	 

� �  

 
 

�+.�) ��v���2ov��� ��� +�!�+�v  �$&�)�� &$o�#) ��v )1�� ��: 

 

�
0 .!0� ����/��(�
   ��0!!0+���

2

d
 dS 1 dp dU dW
=T + + U + W =

dr dr ! dr dr dr

dS W dU dW
      =T  +  + U  + W

dr r dr dr

 

 

�) ��/ �+.-)�� ��� ����/��(� ��0!!0+��� .+0� ��v(- � � +�!�' 'o�  � +!o� �o S 

�+��)�*)��� -) !%v��� ��)v�!o+��( #)��"o�(  � +!0� ��v ����v�, 3S/3r=0, �)���� 

��#"�/0�#) ��/ )1�� �� )/&!')��� '�� �� ��!0"��.���� (vortex energy equation): 

 

2 2 2dH W dU dW d(U ) 1 d(rW )
= +U +W +

dr r dr dr dr r dr
�  [7.4]

 
  

               

 


 �$&�� ���( �+o���)���� )1�� �� �+�(� ����v��(� ��o!!o+��� (��I). 

 

 

7.1 K�����
�� ������	�� ��� ���������
���� �����     

 

���v +�o �+�( +)!�+� �� '�� ���-)!( o���( )/-��+��  � +!0� ��v ����v� � +�!�+�/  

)1�� �� ��I #�� ��v)�: 
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� �
0

dr

Wrd

r

W

dr

dU
U �




�


                [7.5]
 

 

.��v o� ����vo#&� ��� o���(� )v-��+��� (
) ��� )v�!o+��� (S) )�v�� o#o�.#o!*)�  � 

+!o� ��v ����v�. 

��� ��v +)!�+� �� �) +o� � �1ov��( ��$,���� (U) +�!�#&v)� ��� ���( ���-)!( 

���-)!( &$o�#): 

 

� �
0

dr

Wrd

r

W
�






 [7.6]
 

 

�) "��� ��v )1�� �� ���( )�v�� ��v��. v� +!o���o!���)� � +o�.����  rW  &��� %��) 

v� ���vo+o�)���� � ����v��( ��o!!o+�� #) ��o �!.+o��: 

 

 (�) 6��v rW = k1 = ���-)!.                              

  ���( )�v�� � +)!�+� �� ��� ����vo#(� ��� )�),-)!�� ��v�� (Free Vortex) 

  

(") 6��v W = k2r                                          

  ���( )�v�� � +)!�+� �� ��� )1�v�'���#&v�� ��v�� (Forced Vortex) (  

  +)!���!o*(� ��)!)o, �%#��o� (Solid Body Rotation) .+ � ����%� �&')���. 

 

7����� #+o!)� v� �+�!1)� ��� ')v��)��� ��� ����vo#(� ��� ')/��.�)!� #o!*( : 

rBrAW n �
�   [7.7]   

�� ����vo#&� ���&� $!���#o+o�o,v��� �) ���#+�)��)� ( �$)�.v ���#+�)��)� !o&� 

(���. #��!� rc ��� rt). 

 

 �)v���, �+�!$o�v �,o ����'o!�)� +!o"��#�� v (( ����vo#%v): 

 (�) 6��v o!�2)��� � ��#( � v k (8##)�o +!."��#� - indirect problem) ��� 

"!���ov��� o� ����vo#&� � v ' v�%v )��.�o� )1.�o�, �,"(r). 

 (") 6��v o!�2)��� � ����v0#( ��� ' v��� �(r) ��� +!&+)� v� �+o�o'���)� � W (��� � 

U) #) "��� ��v ����v��( ��o!!o+�� (9#)�o +!."��#�-Direct problem). 

�� �o,#), �o�+.v, �� #�� ��v)� � ��-) #�� +)!�+� �� ����vo#(� : 
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(i) ��
��
��� ����� 

8��  o�� +!�v ��� #)�� �o ��!0*)�0 &$o�#) : 

rW1 = k1 

rW2 = k2 

�.�) �o +�!�'.#)vo/�+0!!o*o,#)vo &!'o )�v�� : 

 

. = )k - k( =

/r)k - /rk(r =

H - H = )W - W(U = W

12

12

1212p

�����
� ��

                              [7.8]

 

 

�o &!'o, �o�+.v, +o� +�!�')���/�+0!!o*���� �) ��!o"��o��/��#+�)��&� #) ��!o*)�� 

�$)����#&v� #) ����vo#&� )�),-)!�� ��v�� )�v�� ���-)!.. 

�� �$)���&� ' v�)� )��.�o� ("1) ��� )1.�o� ("2) ��o ��!o*)�o ��vov��� �+. ��� �$&�)�� : 

 

U

/rk - r
 =  - 

U

U
 = 

U

/rk - r
 =  - 

U

U
 = 

2
2

p

2

1
1

p

1

�

�

�
��

�
��

tantan

tantan

                          [7.9]

 

 

�����( o� ' v�)� " )�v�� ��v�!�(�)�� ��� ����v�� o+.�) .�o �0 +�)!,'�o -� )#*�v�2)� 

��+o�� ����!o*( ���� �0 )�+&���#� �0�. 

� "�-#.� �v���!���� (R) )�v�� : 

rk/ - 1 =

) + (
U2

U
 = R

2

21

p

�� tantan

             [7.10]

 

 

.+o� k = ( k1 + k2 ) / 2  . �+����, �+. ��v )1�� ��: 

 

r

W
 = 

dr

dp1 2

�                                [7.11]

 

 

+�!���!o,#) .�� � ������( +�)�� ��1�v)� #) ��v ����v�, �*o, � +o�.���� ( /rW
2

) 
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)�v�� -)���(. 


 ��+��( ����vo#( � v ' v�%v �1, �2, "1, "2 ��� +�)!,'�� #��� "�-#���� �1ov��o, 

��#+�)��( ��� � �v����o�$� #)��"o�( �o� �!�-#o, Mach, ���v )��o�o �o� ��!o*)�o� (rotor) 

��� �o� ����o!� (stator), *��v0/��� ��o �$(#� 7.1. �v��o'� #) ��� �+o�o'�2.#)v)� ' v�)�, 

.+ � *��v)��� �'���. �o �$(#� +!o�,+�o�v ��� o� ��v�)�)��&� �v� ��� ��� o+��-&��o����. 

�+. �o +�!�+�v  �$(#� )+���� *��v)��� o�� �� �,!�� +!o"�(#��� #) ��v ����vo#( 

)�),-)!�� ��v�� )�v�� o� #)'��)� ' v�)� )��!o+(� ( (�1-�2) ��� ("1-"2) ) ��� "��� �o� 

+�)!�'�o� ��� o� �v����o�$o� �5��0� �!�-#o� Mach ��o ��!o �o� +�)!�'�o� �o� ��!o*)�o�. 

  

(ii) ���v�������v�� ��v�� 

���v +)!�+� �� ���(, +!�v ��� #)�� �� +�)!,'�� �o� ��!o*)�o� � �o� ����o!� &$o�#): 

W1 = k1r 

W2 = k2r 

�.�), �+. ��v )1�� �� ����v��(� ��o!!o+���, '�� 
 ���-)!. ���� #(�o� ��� ����v��, 

&$o�#) : 

 

0 = 
dr

r)d(W

r

W
 + 

dr

dU
U

�

                             [7.12]
 

 

( 

 

0 = 
dr

]rkd[
k + 

dr

]
2

U
d[ 2

1
1

2

�

           [7.13]
 

 

��� o#o� � ���v &1o�o. ��o���!%vov��� ��v )1�� �� ���( &$o�#) : 

 

 ��������  =   C         , r k 2   -   C   =   U 1 
2 

1 

2 

1 1 

2 .          [7.14]           

 

�����( � �1ov��( ��v���%�� ��� ��$,����� (U) )�% +!&+)� v� #)��"���)��� ���� 

#(�o� ��� ����v��. 

 �o &!'o +o� +�!�')���/�+0!!o*���� ��o ��!o*)�o (�v� #ov��� #�2�� �&!�) )�v�� : 
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r)k - k( = )W - W(U = H - H = W 2
1212p12 ��� �

              [7.15] 

 

�����( ��� ���. #)��"���)��� #) ��v ����v�. �+����, &$o�#) �+. ��v )1�� ��: 

 

dr

d(rW)

r

W
 + 

dr

dU
U = 

dr

dS
T - 

dr

dH

                [7.16]
 

 

.�� : 

 

dr

)rkd(
k + 

dr

/2)Ud(
 = r)k - k( 2 = 

dr

dH
2

2
2

2
2

12
2 �

����
             [7.17] 

 

�*o, �+o-&��#) .�� dH1/dr = 0 

9!� : r)]k - k( - k2[ - C = U
2

12
2
22

2
2 ��   

6+o� C2 = ���-)!� 

�� ���-)!&� C1 ��� C2 )�!���ov��� �+. ��v )1�� �� ��v&$)���, ���. 

 

drrU 2 = drrU 2 = m 2
r

r1
r

r

T

H

T

H
������� �����

~
           [7.18] 

 

.+o� rh, rt )�/�� o� ����v)� ��� "��� ��� �o ()1 �)!��.) ��!o �o� +�)!�'�o� ('�� 

���#+�)��� "&"��� !o(). 

 

(iii) � �
v����  !�"�� ��#�vo�� ��v�� 


 ')v��)�#&v� ����vo#( ��v�� � v Carmichael ��� Lewis �+o-&�)� .��  

b/r±r=W n� , ��� )����%�)!� : 

 

)  (        b/r + r = W

)  (        b/r - r = W
n

2

n
1

���������� ����

��������� ����

                       [7.19]

 

 

���( � ����vo#( )+��!&+)� ���-)!( ���*o!� (
1 - 
2) , �����( )����. &!'o, '�� #�� 

o!��#&v� ����v�, �+. "�-#��� �) "�-#���. 8���, �v � �!$��( o���( )v-��+�� ��o ��!."��o � 
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�o ��#+�)��( (��v �v)1�!���� ��� ����v��, � ����vo#( ���(�, �����( � 
(r), )�v�� +�v�o, 

�v)1�!���� �������v��. 

� "�-#.� �v���!���� Rd )�v�� : 

 

U/r - 1 = R p
n

d �
                            [7.20]

 

 

��� �o )����. &!'o : 

b/rU2-=)W-W(U=

H-H=
m

W

p12p

12
e

              [7.21]       

 

��o $�!����!�����&� �,�)�� )�v�� ���&� .+o� �0 n )�/�� � 0 � 1. �.�) &$o�#) : 

(�)  n = 1 «)�-)���(» (exponential) 

lnr])(2b/-1)-r[(2±C=U

=/-1=Ur/-1=R

b/r+r=W   ,b/r-r=W

222
1,2

pD

21

��

�������!���
��

 

 

 (") n = 0 «���-)!( �v���!���» (constant reaction) 

  

r)]-r)(1(b/±[lnr2-C=U

r

1
)/(-1=U/-1=R

b/r+=W   ,b/r-=W

22
1,2

pD

21

��

���

��

�  

 

 

7.2 �� �
��� 
	����
� 

  

��o �#)�o +!."��#� ����v��(� ��o!!o+��� � ����vo#( ��� ' v��� 

)���' '(�/)1�' '(� (� ( ") ��v)��� ��/ ��v�!���� ��� ����v��. 


 )1�� �� (AAI) #)���$�#���2)��� ��� #o!*( : 

 

�"�����#

�

usin = W          W + U =u       

dr

du
u + 

r

u
 = 

dr

du
u + 

r

W
 = 

dr

dS
T - 

dr

dH

22

222
sin�

                     [7.22] 
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�v �+o-&�o�#) o�� dH/dr=ds/dr=0, �.�) � +�!�+�v  )1�� �� o�o���!%v)��� ��� 

#o!*( 

 

����������#

�

 = C     

r

dr
  - C =lnu 

1

2r

r 1
T

H
�� sin

                      [7.23]

 

 

�v ��v)��� � ��v-(��  u = um  .��v  r = rm  , � ����vo#(  u(r) )�v�� : 

 

]
r

dr
  [- = 

u

u(r) 2r

r 

m
m

�� �sinexp

                 [7.24] 

 

�v -) !(�o�#) �� ' v�� � ���-)!( (�����( f(r)  $� ), �.�) -� &$o�#) : 

 

)
r

r
( = 

W

W
 = 

U

U
 = 

u

u

m

-

mmm

2�sin

 

 

6��v � ��v-(�� ���( ��$,)� ��� ��� �,o ��!�, +!�v ��� #)��, �.�) �o +�)!,'�o &$)� 

���-)!( �)!o�o#(, ���� +o� ��)��o�,v)� ��#�v���� ��v ������)�( �o�. ��� ���� 

��#�v���( )*�!#o'( ��� )�v��, #)!��&� *o!&�, �) o��'� +�)!,'��, +o� +!&+)� v� &$o�v 

���-)!( ' v�� )1.�o� (�����( �2=���-)!( ��� +o��&� *o!&� �2=0). 

6��v dH/dr ��� dS/dr $ 0, � )1�� �� ����v��(� ��o!!o+��� o�o���!%v)��� ��� #o!*( 

: 

drdr]
r

[2]
dr

dS
T - 

dr

dH
[ 2 =

= dr]} 
r

 [2 { u - dr]} 
r

 [2 { u

2
r

r 

2
r

0 

2
m

2
r

0 

2

m

m

����

��

�

��

sin
exp

sin
exp

sin
exp

            [7.25]
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7.3 
	����
��� ��

���������� 

 


 �+�( )1�� �� ����v��(� ��o!!o+��� )1��o�o�-)� v� ��$,)� ��� .��v � !o( )�v�� 

��#+�)��(. 
 +��v.����, .# �, +�,)� v� )�v�� ���-)!( ��� '�v)��� ��v�!���� ��� +�)��� 

(��� ��� -)!#o�!�����). 

�v -) !(�o�#) �� !o( ��� ��!o"��o#�$�v( ����"����( �.�) &$o�#) : 

 

pC = 
1/%� �                [7.26] 

 

.+o� C = ���-)!� 

8��� � )1�� �� ����v��(� ��o!!o+��� o�o���!%v)���  � )1(�, '�� ��v +)!�+� �� ��� 

)�),-)!�� ��v�� (Wr = k): 

 

r

k
 = 

r

W
 = 

dr

dp1
3

22

�                                [7.27]

 

 

( 

 

)C( + drr kC = dp p i
-32-1/ �������% ���                          [7.28]          

 

( 

 

]
r2

kC
 - C[ = p

2

2

i

1-� %
%

                            [7.29]

 

 

��� )�%, �o�+.v, � ������( +�)�� ��1�v)� #) ��v ����v�. �v, .# � k=0, '�v)��� 

�v)1�!���� ��� ����v��. �v +��)�, .# �, +)!�+�%�)�, � ����vo#( ��� +��v.����� -� 

#)��"��-)� ���v &1o�o �) �$&�� #) ��v �!$��( ��#(. �v �  f(r)  U  , 11
$� , �.�) &$o�#) : 

 

drrU2=UA=m 2

r

r2111

T

H
������ ����        [7.30]             
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�o +!."��#� ��� ���*o!)���(� ����vo#(� ��� +��v.����� ��#��v)� o�� -� �+�!1)� 

#)���.+��� � v !o��%v '!�##%v #&�� ��o�� �' 'o,� � v +�)!�'� v �o� ����o!� ��� �o� 

��!o*)�o� .+ � *��v)��� ��o �$(#� 7.2 


 ,+�!1� #� #��)v��(� ����v��(� ��$,�����  0)  (V $ , �.�) -&�)� +!o"�(#��� #) ��v 

��!�")�� � v �+o�)�)�#�� v +o� "���2ov��� ���v �+�( )1�� �� ����v��(� ��o!!o+���. 

8v�� �!.+o� �+o*�'(� ���o, �o� ���(##��o� )�v�� v� �+o-&�o�#) o�� : 

 

.=cosau=u=U=
dA

md
mmm

���������
cos        [7.31] 

 

()�% o �)����� m �+ovo)� ��#&� .��v r=rm). ���( � �+.-)�� �+ovo)� o�� o� !o��&� 

'!�##&� )�/�� +�!�����)� ���, )+o#&v �, �)v �+�!$)� ����v��( ��v���%�� ��� ��$������ 

�o� !)���o,. 


 )*�!#o'( ��� ��&�� ���(� ���v �v����� �o� +)��o� &$)�  � )1(� ('�� "�-#��� 

��!o"��o�) : 

 

�.  
+o-&�o�#) o�� ���v )��o�o �o� ����o!� � o���( )v-��+�� )�v�� o#o�.#o!*�, � 

)v�!o+�� #)��"���)��� #) �ov ���o !�-#. �) .�)� ��� ����v)� (�����( dS/dr=0 �) 

.�� �� "�-#���) ��� �o !)���. )�v�� �&�)�o. H )1�� �� ����v��(� ��o!!o+��� #�� 

��v)� �.�) ���v &1o�o �o� ����o!� .�� : 
r

dr
 - = 

u

du 2�sin   (i) 

 �+. ��v )1�� �� o!#(� (���v ���),-�v�� r) &$o�#) : 

         
r

u
=

dr

d

r
=)

dr

d
()

d

dp
(

1
=

dr

dp1 2
2

�
���

���
sin��                        (ii) 

 .+o� � )�/�� � ��$,���� �o� ($o� ��� #) 
��
�p

 

 �+����, �+. ��v �+.-)�� ��� ����"����(� )��.v ���, &$o�#) : 

 �
�

%
d

1)-( = 
T

dT
                     (iii) 

 � �+o�o'��#.�, �o�+.v, � v u, !, �, � '�v)��� ���v &1o�o �o� ����o!�  � )1(�: 

1)  
+o-&�o�#) o�� 'v !�2o�#) ��� ��#&� � v um, !m, �m, �m ��� "#&��" ����v� 

r=rm 

2) 
+o-&�o�#) o�� � � �) #)��"���)��� ��o ������#� dr. 8��� 
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$!���#o+o�o,#) #�� �+o�o'�����( ���������� (+.$. #&-o�o Runge-Kutta) 

'�� v� o�o���!%�o�#) ��� )1��%�)�� (i), (ii) ��� (iii) '�� v� "!o,#) ��� v&)� 

��#&� � v u, !, � ���v ����v� rm+dr. 

3) 4!���#o+o�o,#) ��v �!$��( �+.-)�� � v +�!���(� v !o��%v '!�##%v 

'�� v� �+o�o'��o�#) ��v �2 ��� v&� ����v� rm+dr, �*o, : 

  

 
�

�
�

� 2m

mm
2

u

u
 = coscos �

�

�

                  [7.32] 

 

4) ��v)$�2o�#) �� ���������� '�� &/� v&o "(#� dr. 

 �� ��#&� �o� � "!���ov��� �+. �� �$&�� : 

  

 RTu/ = M %
              [7.33] 

 

II.  �+. �� ' v���( ��$,����  , #) �� "o(-)�� ��� �!�' vo#)�!���, �+o�o'�2ov��� 

��� o� �$)���&� ' v�)� (") ��� 0� ��$,���)� ���v )��o�o �o� ��!o*)�o� �) .�)� ��� 

����v)�. 

 � �+o�o'��#.� � v �$)���%v ' v�%v ��� ��$��(� v ���v &1o�o �o� ��!o*)�o� 

'�v)���  � )1(� : 

 �+. ��v )1�� �� �o� Euler &$o�#) : 

  

 
)W + W(U = H - H 32p32                            [7.34]

 

  

 ��� )+o#&v � : 

  

 dr

)uUd(
 - 

dr

)WUd(
 - = 

dr

dH 33p2p3 �sin���

                  [7.35]
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 )
dr

d
u + 

dr

du
 + 

r

dr
u(U + 

dr

)WUd(
 = 

dr

dH
 - 3

33
3

333p

2p3 �
��� cossinsin�

�

    [7.36] 

 

 ���� �+. ��v )1�� �� ����v��(� ��o!!o+���, &$o�#) : 

  

 dr

du
u + 

r

dr
u = 

dr

dH 3
33

22
3

3 �� �sin
            [7.37]

 

 

 �+����, �+. ��v �!$��( �+.-)��  ! u cos� = ���-)!.  &$o�#) : 

  

 ��
�
�

d = 
u

du
 + 

d
tan

         [7.38]

 

 

 �� +�!�+�v  )1��%�)�� ��vo�v : 

  

 ]
r

dr
)

3M+
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3
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�
��sin

 [7.39] 

  

 .+o�     RT/u=M=3M 33333x
%�� coscos ��  

          

 c

u
2

1
 + )W + W(U

 - T = 
c2

u
 - T = T

p

2
332p

02

p

2
3

033

 [7.40]

 

  

 
 ���������� )+������ '�� ��v u3 ��+. )�v�� �.�) +�!.#o�� .+ � ��� ���v &1o�o 

�o� ����o!�. 
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����/0#( ' /�%/ ��� ') #)�!�� �)!0�0#%/ #) �+.-)�� 

)�),-)!�� ��/�� 
 

����/0#( ' /�%/ ��� ') #)�!�� �)!0�0#%/ #) �+.-)�� 

���-)!(� �/���!���� 

�$(#�  7.1  �) ��+��� ���'!�##��� �$)����#0, +�)!�'%�) / #) ��/ #&-0�0 ��� 

����/��(� ��0!!0+��� 
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�)��"0�( �!�-#0, Mach )��.�0� '�� �$)����#. #) �+.-)�� 

)�),-)!�� ��/�� ��� ���-)!(� �/���!����. 
 

�)��"0�( ��/�)�)��%/ �/� ��� ��� 0+��-&��0���� '�� ��+��( 

+�)!,' �� �)�0#&/�� ') #)�!��� 

�$(#�  7.1  ") ��+��� �+0�)�&�#��� �$)����#0, +�)!�'%�) / #) ��/ #&-0�0 ��� 

����/��(� ��0!!0+��� 
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�$(#� 7.2 
 #)���.+��� � / !0��%/ '!�##%/ �.'  ��#+�)��.���0� 


